TELANGANA STATE ROAD TRANSPORT CORPORATION

No. P3/462(01)/2024-RM:WL

Office of the Regional Manager, Warangal, Dated, 21-08-2024.

TENDER NOTIFICATION

Sub:- CONTRACTS:- Letting out of various works on Outsourcing basis in Warangal Region – Calling for Tenders - Reg.

Tenders are inviting from the interested Contractors for various works on Outsourcing basis, in all depots of Warangal Region as mentioned hereunder.

Mechanic / Artisans :-

SI. NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	EMD (Rounded)
01	WL-1	Artisans Mechanics - 04 Tyre Mech - 02 Electrician - 03 Painter - 01	3 Hi-Skilled Workers 3 X 26,414.02 = Rs. 79,242.06 ps. 7 Skilled Workers 7 X 21,556.13 = Rs. 1,50,892.91 ps. Total = Rs. 2,30,134.97 ps. Monthly Remuneration 2,30,134.97 ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 2,35,000/-

Typists (Data Entry Operators):

SI. NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
02	WL REGN	Typists (Data Entry Operators)	12 DEOs 12 X 16,472.64 = Rs. 1,97,671.68 ps. Monthly Remuneration Rs.1,97,671.68 Ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 2,00,000 /-

Sweeping Cleaning of RMs Office Complex:

Sl. NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
03	RM's Office Warang al	SWEEPING CLEANING OF RM'S OFFICE COMPLEX, INCLUDING 1ST & 2ND FLOOR AND MAINTENANCE OF TOILETS AND PROVIDING DRINKING WATER AT RTC DISPENSARY AND RMS OFFICE COMPLEX	10 UNSKILLED WORKERS @ Rs.15,103.13 EACH PER MONTH (10X15,103.13= Rs.1,51,031.30) Total Rs. 1,51,031.30/- (including PF,ESI, EDLIF & 7 % Profit Margin). (7- Attenders, 2 -Sweepers 1- Scavenger).	Rs. 1,55,000 /-

Sweeping Cleaning of Bus Station Yards and Platforms:

SI. NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
04	WL-1	SWEEPING CLEANING YARD AND PLAT FORMS AT DBS/HNK (Major),	18 Un-Skilled 18 X 15,103.13 = Rs. 2,71,856.34 ps. Monthly Remuneration Rs.2,71,856.34 Ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 2,75,000 /-
05	WL-1	SWEEPING CLEANING YARD AND PLAT FORMS AT Stn. GHANPUR BUS STATION (B - Class),	2 Un – Skilled 2 X 15,103.13 = Rs. 30,206.26 ps. Monthly Remuneration Rs.30,206.26 Ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 35,000 /-
06	WL-2	SWEEPING CLEANING YARD AND PLAT FORMS AT DBS/WL(TEMPORARY BUS STATION)	10 Un – Skilled 10 X 15,103.13 = Rs. 1,51,031.30 ps. Monthly Remuneration Rs. 15,103.13 ps. Including PF, ESI, EDLIF & 7% Profit Margin)	Rs. 1,55,000/-
07	WL-2	SWEEPING CLEANING YARD AND PLAT FORMS AT Uppal X Road Bus Station (B - Class)	1 Un - Skilled 1 X 15,103.13 = Rs. 15,103.13 ps. Monthly Remuneration Rs. 15,103.13 ps. Including PF, ESI, EDLIF & 7% Profit Margin)	Rs. 20,000/-
08	WL-2	SWEEPING CLEANING YARD AND PLAT FORMS AT Mulugu Bus Station (B - Class)	Un - Skilled 3 X 15,103.13 = Rs. 45,309.39 ps. Monthly Remuneration Rs. 45,309.39 ps. Including PF, ESI, EDLIF & 7% Profit Margin)	Rs. 50,000/-
09	PRKL	SWEEPING CLEANING YARD AND PLAT FORMS AT PARKAL BUS STATION (B - Class)	06 Un Skilled 6 X 15,103.13 = Rs. 90,618.78 ps. Monthly Remuneration Rs.90,618.78 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 95,000/-

	40° 50° 50° 80° 60° 60°		AT AN ALBERT AND ADDRESS OF THE PROPERTY OF THE PROPERTY OF THE PERSON NAMED IN COLUMN TWO ASSESSMENT OF THE PERSON NAMED IN COLUMN TO A PARTY OF THE PERSON NAMED IN COLUMN TO PARTY OF THE PERSON NAMED	
10	TRR	PLAT FORMS AT THORRUR BUS	3 Un Skilled 3 X 15,103.13 - Rs. 45,309.39 ps. Monthly Remuneration Rs.45,309.39 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 50,000/
		MATERIAL PROPERTY AND ADDRESS OF THE PARTY OF THE PARTY AND ADDRESS OF THE PARTY OF	1 1 Lin Glailled	
11	TRR	PLAT FORMS AT RAYAPARTHI BUS	1 X 15,103.13 - Rs. 15,103.13 ps. Monthly Remuneration Rs. 15,103.13 ps. Including PF, ESI, EDLIF & 7% Profit Margin)	Rs. 20,000/
		The content of the property of the second of	1 Un - Skilled	
12	TRR	SWEEPING CLEANING YARD AND PLAT FORMS AT DHANTALAPALLY BUS STATION (C - Class)	1 X 15,103.13 - Rs. 15,103.13 ps. Monthly Remuneration Rs. 15,103.13 ps. Including PF, ESI, EDLIF & 7% Profit Margin)	Rs. 20,000/
			1 Un - Skilled	
13	BHPL	SWEEPING CLEANING YARD AND PLAT FORMS AT (MULUGU) GHANPUR BUS STATION (C - Class)	1 X 15,103.13 = Rs. 15,103.13 ps. Monthly Remuneration Rs. 15,103.13 ps. Including PF, ESI, EDLIF & 7% Profit Margin)	Rs. 20,000/

Sweeping, Washing and MWP of Buses at Warangal Region:

(Sweeping & Washing of all buses (PVG, EXP & DLX) MWP of Buses (PVG, EXP & DLX), Moping of Buses (GD,RJD,GD+ & SL) daily activities, RJD daily activities on Manpower basis.

SI. NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
14	WL-1 DEPOT	SWEEPING, WASHING & MWP OF WL-1 DEPOT AC BUSES	2 Parking Drivers (Skilled Workers) (25,853.92 x 2 = 51,707.84), 9 UN-SKILLED WORKERS (18,114.35x9 = 1,63,029.15 & 1- SUPERVISOR (SEMI SKILLED) (21,400.95x1=21,400.95) with 1/6th wages	EMD : Rs. 2,40,000/- (Rupees Two Lakhs Fouty Thousand Only)
			CONTRACT VALUE Rs.2,36,137.94 (2 Skilled +9 Un-Skilled + 1 Semi-Skilled) Including PF, ESI, EDLIF	
15	WL-1 DEPOT	SWEEPING, WASHING & MWP OF WL-1 DEPOT NON-AC BUSES	2 Parking Drivers (Skilled Workers) (25,853.92 x 2 = 51,707.84), 7 UN-SKILLED WORKERS (18,114.35x7 = 1,26,800.45 & 1- SUPERVISOR (SEMI SKILLED) (21,400.95x1=21,400.95) with 1/6th wages	EMD : Rs. 2,00,000/- (Rupees Two Lakhs Only)
			CONTRACT VALUE Rs.1,99,909.24 (2 Skilled +7 Un-Skilled + 1 Semi-Skilled) Including PF, ESI, EDLIF	
16	JN	SWEEPING, WASHING & MWP OF JN DEPOT BUSES	3 Parking Drivers (Skilled Workers) (25,853.92 x 3 = 77,561.76), 6 UN-SKILLED WORKERS (18,114.35x6 = 1,08,686.10 & 1- SUPERVISOR (SEMI SKILLED) (21,400.95x1=21,400.95) with 1/6th wages	EMD: Rs. 2,10,000/- (Rupees Two Lakhs Ten Thousand Only)
			CONTRACT VALUE Rs.2,07,648.81 (3 Skilled + 6 Un-Skilled + 1 Semi-Skilled) Including PF, ESI, EDLIF	inousand Chily,
17	NSPT	SWEEPING, WASHING & MWP OF NSPT DEPOT BUSES	2 Parking Drivers (Skilled Workers) (25,853.92 x 2 = 51,707.84), 6 UN-SKILLED WORKERS (18,114.35x6 = 1,08,686.10 & 1- SUPERVISOR (SEMI SKILLED) (21,400.95x1=21,400.95) with 1/6th wages	EMD: Rs. 1,85,000/- (Rupees One Lakh Eighty-Five Thousand
			CONTRACT VALUE Rs.1,81,794.89 (2 Skilled +6 Un-Skilled + 1 Semi-Skilled) Including PF, ESI, EDLIF	Only)
18	PRKL	SWEEPING, WASHING & MWP OF PRKL DEPOT BUSES	2 Parking Drivers (Skilled Workers) (25,853.92 x 2 = 51,707.84), 4 UN-SKILLED WORKERS (18,114.35x4 = 72,457.4& 1- SUPERVISOR (SEMI SKILLED) (21,400.95x1=21,400.95) with 1/6th wages CONTRACT VALUE Rs.1,45,566.19	EMD: Rs. 1,50,000/- (Rupees One Lakh Fifty Thousand Only)
			(2 Skilled +4 Un-Skilled + 1 Semi-Skilled) Including PF, ESI, EDLIF	
19	BHPL	SWEEPING, WASHING & MWP OF BHPL DEPOT BUSES	2 Parking Drivers (Skilled Workers) (25,853.92 x 2 = 51,707.84), 7 UN-SKILLED WORKERS (18,114.35x7 = 1,26,800.45 & 1- SUPERVISOR (SEMI SKILLED) (21,400.95x1=21,400.95) with 1/6th wages	EMD: Rs. 2,00,000/- (Rupees Two Lakhs Only)
			CONTRACT VALUE Rs. 1,99,909.24 (2 Skilled +7 Un-Skilled + 1 Semi-Skilled) Including PF, ESI, EDLIF	

Sweeping and Cleaning Yard, DMs Office with Maintenance Toilets:

SI.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
NO.	11/1 - 1	GARAGE SWEEPING AND CLEANING YARD, DMs OFFICE WITH MAINTENANCE OF TOILETS PROVIDE 1 OFFICE ATTEDENT	6 Un-Skilled Workers 6 X 15,103.13 = Rs. 90,618.78 ps. Monthly Remuneration Rs.90,618.78 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 95,000/-

Scanned with OKEN Scanner

Scanned with OKEN Scanner

		GARAGE SWEEPING AND	5 Un-Skilled Workers	
21	PRKL	CLEANING YARD, DMs OFFICE WITH MAINTENANCE OF TOILETS	5 X 15,103.13 = Rs. 75,515.65 ps.	Rs. 80,000/-
		PROVIDE 1 OFFICE ATTENDENT	Monthly Remuneration Rs. 75,515.05 Ps.	
L	-		including PF, ESI, EDLIF & 7 % Profit Margin).	

CANTEEN FOR ZONAL STAFF TRAINING COLLEGE:

SI. NO.	Depot	Nature of Works	WORK DETAILS	EMD
22	ZSTC, WARAN GAL CANTE EN	RUNNING OF CANTEEN	CANTEEN AT ZSTC, WL VEG & NON - VEG, FOR A PERIOD OF 3 YEARS 1. BREAK FAST 2. TEA AT 11:00 AM 3. LUNCH 4. TEA AT 15:00 Hrs. 5. DINNER 6. SPECIAL ORDER ITEMS	Rs.50,000/-

Maintanana of Eman Toileto of Deadi

S1. NO.	Depot	of Free Toilets at Bus Station Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
			6 SAFAI KARMACHARIES 6 X 19,884.03 = Rs. 1,19,304.18 ps.	Rs 1 20.000/-
23	WL-1	AT DBS/HNK (MAJOR).	including PF, ESI, EDLIF & 7 % Profit Margin).	103.1,20,000
			INCIDENTAL CHARGES Rs.3000/-	
		MAINTENANCE OF FREE TOILETS	4 SAFAI KARMACHARIES 4 X 19,884.03 = Rs. 79,536.12 ps.	D_{-} 1 $\Omega\Omega$ $\Omega\Omega$ /-
24	JN	AR TANICACNI DITE STATION	Monthly Remuneration Rs.79,536.12 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	RS.1,00,000/
			INCIDENTAL CHARGES Rs.3000/-	
	MAINTENANCE OF FREE TO		2 SAFAI KARMACHARIES 2 X 19,594.01 = Rs. 39,188.02 ps.	/
25	NSPT	AM NIADOANADET DIIC CTATION	Monthly Remuneration Rs.39,188.02 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 40,000/-
			INCIDENTAL CHARGES Rs. 1500/-	
			1 SAFAI KARMACHARY 1 X 19,370.91 = Rs. 19,370.91 ps.	
		SWEEPING CLEANING YARDS AND PLATFORMS AND MAINTENANCE	1 UN SKILLED WORKER 1 X 15,103.13 = Rs. 15,103.13 ps.	Rs. 40,000/- Rs. 20,000/- Rs. 20,000/- Rs. 20,000/-
26	NSPT	OF FREE TOILET AT GUDUR BUS	Monthly Remuneration Rs.34,474.04 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	
			INCIDENTAL CHARGES Rs.1500/-	
			1 SAFAI KARMACHARY	
	NSPT PLATFORMS AND MAINTENAN OF FREE TOILET AT NEKKON	SWEEPING CLEANING YARDS AND	1 X 19,370.91 = Rs. 19,370.91 ps.	$D_{\alpha} = 00000$
27		OF FREE TOILET AT NEKKONDA BUS STATION (C - CLASS)	Monthly Remuneration Rs. 19,370.91 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	RS. 20,000/
		BUS STATION (C - CDAOO)	INCIDENTAL CHARGES Rs.1500/-	
		AND AND	1 SAFAI KARMACHARY 1 X 19,370.91 = Rs. 19,370.91 ps.	
28	NSPT	SWEEPING CLEANING YARD AND PLAT FORMS & MAINTENANCE OF FREE TOILETS AT NALLABELLY	Monthly Remuneration Rs. 19,370.91 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 20,000/
20		BUS STATION (C - CLASS)		
•		<u>=</u>	INCIDENTAL CHARGES Rs.1500/- 1 SAFAI KARMACHARY	
		MATRIMENIANICE OF FOFF TOIL FTS	1 X 19,370.91 = Rs. 19,370.91 ps.	
29	MHBD	MAINTENANCE OF FREE TOILETS AT MARIPEDA BUS STATION, (B - CLASS),	Monthly Remuneration Rs. 19,370.91 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 20,000/
			INCIDENTAL CHARGES Rs.1500/-	
		SWEEPING CLEANING YARDS AND	1 SAFAI KARMACHARY 1 X 19,370.91 = Rs. 19,370.91 ps.	
30	MHBD	PLATFORMS AND MAINTENANCE OF FREE TOILET AT KURIVI BUS	Monthly Remuneration Rs. 19,370.91 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 20,000/
		STATION (C - CLASS)	INCIDENTAL CHARGES Rs.1500/-	
			1 Un - Skilled 1 X 15,103.13 = Rs. 15,103.13 ps.	
		SWEEPING CLEANING YARD AND PLAT FORMS AND MAINTENANCE	1 Safai Karmachary 1 X 19,370.91 = Rs. 19,370.91 ps.	$D_{\alpha} = 25 \Omega \Omega \Lambda / \Omega$
31	BHPL	OF FREE TOILETS AT KALESHWARAM BUS STATION (C - Class)	Monthly Remuneration Rs. 34,474.04 ps. Including PF, ESI, EDLIF & 7% Profit Margin)	Į.
			INCIDENTAL CHARGES Rs. 1500/-	

HSD OIL TOP-UP:

SI. NO.	Depot		MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
32	WL-1 DEPOT	HSD OIL TOP UP WORK AT WL-1 DEPOT	1 SEMI SKILLED WORKER @ Rs.17,843.39 each p/m (1X17,843.39 = Rs.17,843.39), 3 Un Skilled Workers @ Rs.15,103.13 each p/m (3x15,103.13 = Rs.45,309.39) Total Rs.63,152.78(including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 65,000/
33	WL-2 DEPOT	HSD OIL TOP UP WORK AT WL-2 DEPOT	1 SEMI SKILLED WORKER @ Rs. 17,843.39 each p/m (1X17,843.39 = Rs. 17,843.39), 3 Un Skilled Workers @ Rs. 15,103.13 each p/m (3x15,103.13 = Rs. 45,309.39) Total Rs. 63,152.78 (including PF, ESI, EDLIF & 7% Profit Margin).	Rs. 65,000/-
34	JN DEPOT	HSD OIL TOP UP WORK AT JN DEPOT	1 SEMI SKILLED WORKER @ Rs. 17,843.39 each p/m (1X17,843.39 = Rs. 17,843.39), 3 Un Skilled Workers @ Rs. 15,103.13 each p/m (3x15,103.13 = Rs. 45,309.39) Total Rs. 63,152.78 (including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 65,000/-
35	NSPT DEPOT	HSD OIL TOP UP WORK AT NSPT DEPOT	1 SEMI SKILLED WORKER @ Rs.17,843.39 each p/m (1X17,843.39 = Rs.17,843.39), 2 Un Skilled Workers @ Rs.15,103.13 each p/m (2x15,103.13 = Rs.30,206.26) Total Rs.48,049.65(including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 50,000/-
36	PRKL DEPOT	HSD OIL TOP UP WORK AT PRKL DEPOT	1 SEMI SKILLED WORKER @ Rs.17,843.39 each p/m (1X17,843.39 = Rs.17,843.39), 2 Un Skilled Workers @ Rs.15,103.13 each p/m (2x15,103.13 = Rs.30,206.26) Total Rs.48,049.65(including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 50,000/-
37	MHBD DEPOT	HSD OIL TOP UP WORK AT MHBD DEPOT	1 SEMI SKILLED WORKER @ Rs.17,843.39 each p/m (1X17,843.39 = Rs.17,843.39), 2 Un Skilled Workers @ Rs.15,103.13 each p/m (2x15,103.13 = Rs.30,206.26) Total Rs.48,049.65(including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 50,000/-
38	TRR DEPOT	HSD OIL TOP UP WORK AT TRR DEPOT	1 SEMI SKILLED WORKER @ Rs. 17,843.39 each p/m (1X17,843.39 = Rs. 17,843.39), 2 Un Skilled Workers @ Rs. 15,103.13 each p/m (2x15,103.13 = Rs.30,206.26) Total Rs.48,049.65(including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 50,000/-

VALUE ADDED SERVICES PROVIDING ATTENDERS IN ACRISES OF WARANGAI DECION

SI. No.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	REMARKS
39	WLREGN	VALUE ADDED SERVICES: PROVIDING ATTENDERS IN AC BUSES OF WARANGAL REGION. DISTRIBUTION OF WATER BOTTLES / FACE FRESHENER TO PASSENGERS (BOTTLES WILL SUPPLY BY CORPORATION) GIVING ASSISTANCE TO PASSENGERS IN LOADING AND UNLOADING LUGGAGE TO OPERATE AUDIO/VIDEOS ANY OTHER WORKS RELATED TO BE ATTENDED	12 (Approximant) UNSKILLED WORKERS @ Rs.15,103.13 ps. EACH PER MONTH (12X15,103.13=1,81,237.56 ps.) including PF, ESI, EDLF & 7 % Profit Margin.	EMD Rs. 1,85,000/-
40	WL-1	PROVIDING OF E-4 UN-SKILLED WORKERS FOR LOADING AND UN-LOADING OF ZIVA WATER BOTTLES FROM DGT AT WARANGAL-1 DEPOT	4 (Approximant) UNSKILLED WORKERS @ Rs.15,103.13 ps. EACH PER MONTH (4X15,103.13=60,412.52 ps.) including PF, ESI, EDLF & 7 % Profit Margin.	EMD Rs. 65,000/-
41	WL-2	PROVIDING OF E-4 UN-SKILLED WORKERS FOR LOADING AND UN-LOADING OF ZIVA WATER BOTTLES	4 (Approximant) UNSKILLED WORKERS @ Rs.15,103.13 ps. EACH PER MONTH (4X15,103.13=60,412.52 ps.) including PF, ESI, EDLF & 7 % Profit Margin.	EMD Rs. 65,000/-

13/09/2024

Scanned with OKEN Scanner

The Tender Schedule is as follows:

a) Sale of Tender Forms from : 23/08/2024 : 12/09/2024

b) Sale of Tender Forms Last Date till 5.00 pm.
c) Dropping of the filled Tender shall be submitted in the tender box at RM's Office, Warangal

from 10:30 hrs. to 02.00 pm
Opening of Tender Box for verification and finalization of tenders from 3.00 pm onwards. : 13/09/2024

TERMS AND CONDITIONS:

- 01. The prescribed Tender forms can be obtained from concerned Depot Manager's Offices of Warangal Region in all the working days during Office Hours from 10.30 AM to 05.00 PM.
- 02. Cost of Tender forms rates in various depots for works in WARANGAL REGION.

SI.No	Category of Bus Station/Depots	Cost of Tender form
1	Major: DBS/HNK & JN Bus Station	Rs. 1770 (1500 + 270(GST @ 18%))
2.	A-Class: DBS/WL	Rs. 1180 (1000 + 180 (GST @18%))
3.	B - Class: CBS/HNK , MHBD & NSPT	Rs. 885 (750 + 135 (GST @18%))
4.	C-Class: Kaleshwaram & Bhupalapally	Rs. 295 (250 + 45 (GST @18%))

03. The EMD amount shall be drawn through Demand Draft only in favour of ACCOUNTS OFFICER TGSRTC., WARANGAL. From (ANY NATIONALIZED BANK). In case of failure to enclose the Demand Draft, in original to the Tender form/application submitted, will be rejected. The EMD amount shall not carry

any interest. 04. The filled Tender form shall be submitted in the Tender box in the Office of the Regional Manager, TGSRTC, Hanamkonda from 10.30 Hrs to: 14.00 Hrs. on 13/09/2024 and the box will be opened at

15.00Hrs on the same day in presence of the tenderers or their authorized representatives.

05. In case EMD paid by the tenderer is less than what is stipulated in the tender notification or the EMD paid through other means i.e., in a manner other than the stipulated terms and conditions, the tender will be

rejected besides forfeiting the EMD.

06. In case the amount offered is less than the amount mentioned in the Tender Notification, the tender form/application will be rejected since the value of Contract amount includes the Minimum Wages, PF/ESI with profit Margin. Other things being equal, if more than one Tenderer quotes same rate and found suitable by the Tender Committee, the Contract shall be allotted on the basis of LOTTERY. The Contractor must have PF/ESI registration and it will be renewed with valid date. Further, the Labour license obtained in respect of shops and establishment is not acceptable. The form VI issued by the Dy. Commissioner of Labour / Asst. Commissioner of Labour shall invariable enclosed for verification. (Wherever applicable).

07. The Tenderer has to enclose a copy of his PAN CARD, GST NUMBER, Aadhar Card, PF, ESI, Labour license etc., without fail.

08. The detailed Terms and Conditions relating to the above-mentioned work contract will be supplied along with the Tender form/Application.

09. For any other details please contact concerned Section In-charge only at REGIONAL MANAGER OFFICE, Warangal during the Office working hours.

10. The Corporation reserves the right to CANCEL the tenders without assigning any reasons thereof.

Regional Manager Warangal.

Scanned with OKEN Scanner